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632,910 + 72,853 = 
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736 + 28.9 
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810000 +              900 + 30 + 9 = 817939 
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427.9 + 26.98 = 
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173,976 – 64,963 = 
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200000 – 135,953 = 
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76.9 – 38.32 = 
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7 – 2.85 
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6² = 
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4³ = 
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3² x 2² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
18 

6² - 1³ 
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2 x 10 ÷ 5= 
 

                      

                      

                      

                
 

 

                 

                      

 

 
20 

50 – 15 ÷ 3 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
21 

7 – 2 x 4= 
 

                      

                      

                      

                
 

 

                 

                      

 

 
22 

50 - ( 3² x 2 ) = 
 

                      

                      

                      

                
 

 

                 

                      

 


